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QUESTION 1

You are designing a bank application in which automated email reminders are sent to customers every 24 hours,
starting from five days prior to a payment due date until the payment is made? Which type of beans most closely match
the implementation needs for this requirement?

A. Stateful session bean

B. Stateless session bean

C. Managed bean

D. Message-driven bean

Correct Answer: D

QUESTION 2

StockTeller is a Java-based application designed to retrieve the current market for a portfolio of publicly listed stocks.
You have been tasked to design a bolt on module for StockTeller called EBroker, a Java E- based online application
that needs to asynchronously communicate with StockTeller to retrieve market prices for securities in a secure manner.
Which web service technology would you choose to integrate StockTeller into the EBroker application?

A. JAX-WS using HTTP

B. JAX-WS using HTTPS

C. JAX-RPC using HTTP

D. JAX-RS using HTTPS

Correct Answer: B

QUESTION 3

Which two statements describe the contact between an Enterprise JavaBeans (EJB) container and the EJBs that it
hosts?

A. The container provides automatic logging of all exceptions and errors generated by EJB code.
B. The container provides a transparent scaling mechanism to handle spikes in demand.

C. An EJB can extend its services, such as security, to improve performance.

D. The container has a well defined lifecycle model for each EJB type.

Correct Answer: BD
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QUESTION 4

Which three web applications work best when they are designed to be server-push enabled?
A. A news feed used for providing users with frequently updated news content

B. A web chat that allows users to communicate using easily accessible web interfaces

C. A live sporting event application, used to deliver current results during matches

D. An auction system that provides users with live online bidding

E. A graphics rendering application that generates visuals in an orderly fashion

Correct Answer: BCD

QUESTION 5

You have been tasked with improving the availability of an existing three tier application.

What is your first stop in evaluating what changes should be made to the architecture to achieve the goal?
A. Monitor network traffic between tiers.

B. Separate presentation from business logic.

C. Identify and document all single points of failure.

D. Cluster the presentation tier without session replication.

Correct Answer: C
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